®

(Peiline

@ FXEReinHz

ShenShen Intelligent Fluid Technology

E N q

standard style



i 7K AN i

B

(]

ZWHRAR BHFIS

110 AR 55

i

% B 15 in

ail

H—H, TN




= mE =R

Company Profile <4

SZSOWEEERE. FTT T T ——— 1
SZB0PL - o T

725 5
S 7601 N 8
SZ802 - - 10
SZ803 — - o 10
SZ804 o 11
SZ805 -~ .. maaeEE i 11
SZ805 T 12
SZB07 - oo ome R 12
SZBOEEEE . e T 15
SZBTAPL - - - 17
SZ8[lay et e ——— L S 18
S 781 O i i e 20
G758 T T 21
SZ810 e e 22
S S e 23
SZ815 o Py 2ot T AR 23
SZ830 S saniine Eae DTN ST 24
S 7856 AT NSNS N | TS L 25
SZSE T R S AT ST S 28
SZE/0 RS R | | _ Y 28
S78 77 AN, ;.= o 7 f 29
SZEIET e —— gt I A 29
SZ0 T L SO NS 31
S2g((s=- 7 WM . _____ A 32
SZ805 0l - TN = ol 33
67000 TS AR ST AR 33
SZOIN SRR 34
SZAMUINNSRE RN T LY A 34
G701 NSRS S T/ A 35
G el A 35
s A4l Lo e . 36
RS AR . 37

Quick coupling instructions



Peiline®

$Z80/...

db

<i5’

dé
=
|

&
- T

S$Z80/.../45

L1

d
—

db

. =




Peiline®

$Z80/.../90

L1

db
dl
=
|
|
11
M\

L2

SZ80HT/...

10 31 22 17
15 37 25 22




Peiline®

SZ80HT/...x45

db

dh
==
|
|

- T

SZ80HT/...x90
L1
ah
1
= -
‘B

10 41 24
15 51 28




Peiline®

10 54.2 224
15 64.4 26.1

SZ80PL/...x45

10 41 224
15 51 26.1




Peiline®

SZ80PL/...x90

L1

d6
dé
&—!—ﬁ

10 46 224
15 56.5 26.1

$Z801/...




Peiline

SZ801/.../45

$Z801/.../90




Peiline®

SZ801HT/...

db
d

wall——

10

L1

L2

31

22

17

4
E:

15

37

25

22

SZ801HT/...x45

db

wall——

10

L1

db

a1
|

41

15

51

28




SZ801HT/...x90

L1

dé

d

AN

Swwl

L2

(=
(]

[s='S
—_—

ﬁ

SZ801PL/...

db

db

L2
L1
10 54.2 224 17
15 64.4 26.1 22

Peiline®




Peiline®

SZ801PL/...x45

db
db

1

wall——

10 41 224
15 51 26.1

$Z801PL/...x90

10 46 224
15 56.5 26.1




Peiline®

$Z802/...

dé
dk

O l=: =

Typ1

Typ?

SIS
%I

&
=

$Z803/...

db
db

o ll==

L1

dl

4
=

10 9 9.4(USA)
43 17.5 9.4(USA) 9

.5 52.05 22.1 13 13.5(USA)
55.55 23 13.5(USA) 13

10



11

Peiline®

SZ804/...

d6
db

1
dl

o all——

o 9 9.4(USA)
43 17.5 9.4(USA) 9
.5 52.05 22.1 13 13.5(USA)
55.55 23 13.5(USA) 13
$Z805/...
L1 -
L2 d?




Peiline®

$Z8051/...

¥. a2
S T = = R S
[IIXXXXX! l X »
PO POCK

$Z807/...

db
db

L]

d?

L2

10 9 M14X1.5
22 22 9 52 13 M16X1.5

15 15 78 16 M24X1.5
31 30 19

20 13 74 12

12



13

Peiline®

$Z2807/.../45

db

dh
—
|
|

9 M14X1.5
15 22 22 9 54 13 45° M16X1.5
20 31 30 13 80 18 19 M24X1.5
$Z807/.../90
.
i
TR lam
] -
2
F

15 22 22

54

13

20 31 30

80

19

90°

M14X1.5
M16X1.5
M24X1.5




Peiline®

SZ807HT/...

H 4
\
gl Hi-—— — T S
L2
Li
10 17 17 6 48 9 M14X1.5
15 22 22 9 52 13 M16X1.5

SZ807HT/...x45

dh
—

do

10 17 17 6 47 M14X1.5
15 22 22 9 54 13 M16X1.5

14



15

Peiline®

SZ807HT/...x90

L
H
I
N ‘%i
-{_-_-- -
-.|_____, :
d?
F
10 17 17 6 47 M14X%1.5
9 90°
15 22 22 9 54 13 M16Xx1.5
SZ808/...
H

db
dh
&—!—6

|

|
]

2]
F

S

L2
L1
10 22 22 9 52 M16x1.5
15 30 31 15 78 16 13 |M24Xx15




Peiline®

SZ808HT/...

10 17 17
15 22 22

[e)]

48 M14X1.5
52 13 M16X1.5

©o

SZ808HT/...x45

dh
—

db

wall=—

10 17 17 6 48 M14X1.5
15 22 22 9 52 13 M16X1.5

16



17

Peiline®

SZ808HT/...x90

L
o
| E
] . _{_ ________ 1
-
I
d2
F
10 17 17 6 47 M14X1.5
9 90°
15 22 22 9 54 13 M16X1.5
SZ876PL/...
H
o
=l
(7 [
L?
L
17 42.7 225 M14x1.5
22 45.9 25 M16x1.5




Peiline®

SZ81/...

d?
dh

M8X0.75

M7X1

45
; M8X0.75
24 11 5.5
9
10 6
M14X1.5
15 8.5
26 9 M14X1.5
13
9
M16X 1.5
17
G3/8A
51 16 27 M24X1.5
1 47 12 22 13 19
51 16 27

18



19

Peiline®

S$Z81/.../90

> B

L2

T

d?
d

L1

4.5
11 24 9 23 55 9
6
8.5
15 34 11 25 13
9
24 47 16 42 13 19

90°

M8Xx0.75

M8X0.75

M14X1.5

M24X1.5




Peiline®

$Z810/...

wall——

d?
d

24

M8X0.75

10

26

4.5

M7X1
M8X0.75

M14Xx1.5

8.5

13

M14X1.5

M16X 1.5
G3/8A

51

16

12

51

16

11

13

19

M24X1.5

20



21

Peiline®

$Z811/...

= [

d?
db

’
= S=s

M8X0.75

15

29

M14X1.5

b G1/4A
M16X1.5
15 17 30 9 13
G3/8A
M24X1.5
20 27 16 51 13 19
SZ811HT/...
H

d?

db

12

29

M14X1.5
G1/4A

30

13

M16X1.5




Peiline®

$Z2812/...

L
o~ -4 __ __1 | _1 o~
=] [N
L1 L2
L
M14X1.5
M14X1.5
17 23 9
6 G1/4A
G1/4A
22 9 G1/2A | M14x1.5
M16x1.5
30 12 M16X1.5
19 9
G3/8A
G3/8A
22 30 12 9 9 G1/2A M16X1.5
40 16 M24x1.5
27 > 16 M24x1.5
12 G1/2A
22 30 12 13 G1/2A
G3/4A
27 40 16 16 G3/4A /
M24x1.5

22



23

Peiline®

$SZ814/...

F1
F?
|

L1

7 M14X1.5 M10X1
22 14 9 M18X1.5 M14X1.5
17 11 7 G1/4A G1/8
19 13 9 G3/8A Gl/4
24 18 12 G1/2A G3/8

M24X1.5 M16X1.5
27 24 16
G3/4A G1/2
H
0 - e
L1 LZ
L

M14X1.5
27 24 12 G1/2
10 M16X1.5
M14X1.5
32 28 7 G3/4
M16X1.5
17 26 12 26 G1/4 G1/4




Peiline®

$Z830/...

L1 L2

Typ 1 Typ 2




Peiline®

SZ856/1/...

300
350
400

10

5000

M16X 1.5

300
350
400

5000

13

300
350
400

20 UN3/4

5000

300
350
400

16

5000

G3/4

300
350
400

19

5000

HTEEIMAPET SN /K8 LT EIMRPIEIT SN /KR

With blue Outer protective film add /KB to the part number With blue Outer protective film add /KR to the part number

25



Peiline®

$Z856/1/.../90

10

13

20

M16X 1.5

300
350
400

5000

300
350
400

5000

UN3/4

300
350
400

5000

16

19

G3/4

300
350
400

5000

300
350
400

5000

HIRBIMRPERFASIEN /KB

With blue Outer protective film add /KB to the part number

T BIMRIPIERFHSIEM /KR

With blue Outer protective film add /KR to the part number

26



27

Peiline®

$Z856/1/.../.../90

dl

10

13

20

M16X 1.5

300
350
400

5000

300
350
400

5000

UN3/4

300
350
400

5000

16

19

G3/4

300
350
400

5000

300
350
400

5000

HIRBIMRPERFASIEN /KB

With blue Outer protective film add /KB to the part number

T BIMRIPIERFHSIEM /KR

With blue Outer protective film add /KR to the part number



Peiline®

SZ86/...

$Z287/...

T
—
[ —--—- -— Sl o
]
L/
L]
L
7 215 5 M5X0.5
35 5
9 235 M8X0.75
M7X1
45
; M8X0.75
11 335 5.5 9 M9X1
6 M10X1
G1/8A
M11X1
15 M12X1.5
M14X1.5
40 9 9 13
17 M16X1.5
15 G1/4A
17 G3/8A
27 56 16 M24X1.5
22 50 12 13 19 G1/2A
27 56 16 G3/4A

28



29

Peiline®

$Z2875/...

H
e
| ——F 9=
I w—
L1
L
17 375 22.5 6 9 M14X1.5
22 40 25 9 13 M16X1.5
SZ876/...
H
'
-
\ ||
L1
L

M14X1.5
17 40 235 6 9
G1/4
M16X1.5
22 41 27 9 13
G3/8
30 M24X1.5
" 52 32 13 19




Peiline®

$Z2876/.../45

E
J e
S

L1

H
\
L
i
i
.‘\

M14X1.5
17 16.5 22.5 345 6 9

45°
M16X1.5
22 14 28 355 9 13

S$Z876/.../90

M14X1.5
17 16.5 225 345 6 9

90°
M16X1.5
22 14 28 35.5 9 13

30



31

Peiline®

$Z90/...

d?

db

63
100

11

10

21

63
100
120
240
360

15

14

23

13

150
300
450

22

13

21

35

19

500
800




Peiline®

$Z900/...

11

40

d?

dd

L1

44

M 7x1

M 8x0.75

5.9

M 9x1

M10x1

G1/8A

M14x1.5

G1/4A

13

8.5

M11x1

M14x1.5

G1/4A

M16x1.5

G3/8A

100

32



Peiline®

$Z905/...

L3

M14X1.5 M10X1
6 7 17 22
15 Gl/4 G1/8A
M16X1.5 | M14X1.5
8 9 20 24
G3/8 G1/4A

$Z906/...

I
|
I
|
F

dl
d
|

M14X1.5
240
15.5 12
150
22 14 9 13 M16 X 1.5
300
500
30 21 21 16 13 19 M24X1.5
800

33



Peiline®

$SZ94/...

M 8X0.75

10 8

M12X1.5

7 10 M14X1.5

$Z940/...

M7X1

4 M 8X0.75

M9Xx1
10

M12X1.5
10

7 M14X1.5

34



35

Peiline®

$Z941/...

L3
@ M .
L2 L1
L
4 1 M7x1 5
13 M9x1
1 8 11
5 ; 14 M10X1 10
15 M11X1 12
17 M12X1.5 20
5 6 15 12 15
19 M14X1.5 25
5 1 8 11 14 G1/8A 10
6 3 18 G1/4A 25
12 15
8 15 22 G3/8A 35
10 4 14 18 26 G1/2A 50

$Z942/...

=
—




Peiline®

$Z9661/...

e —
[ 1 :
L+0
\\AAAA/ A,
\ AN \\\ N @
— /
F
N\
N
100
4 6 M 8X%0.75 200
1.6
100
5 8 8 M10X1 200
125
6 10 M12X1.5 250
150
7 2.4 12 M14X1.5 300
150
8 14 M16X1.5
300
100
5 16 8.5 10 G1/8A 200
125
7 11.5 G1/4 250
2.4
150
8 15 G3/8 200

36



Peiline®

SRR 3 L(E A JF == 10 /Precautions

@ RAHEFEN ERAS T HEATHRIERE S R SR EE @ BAREMEREHTHE, EEREEMETIAE O UNRERREPRNRMRIERELME, PTG —
XRBEBRITHC FRYETF A ND & B T BT X AR E B EEREMTIRFEEER,
@Disassembly cannot be carried out under pressure. @Do not hit the front of the valve with objects such as hammers. @Please use the filtered fluid, otherwise it is easy to cause failure.

o

%dr@ -

W) —> &
[
@I REHE M RLE R MR, HWAFESRE OEHEHRL/KIREERMR, AMUEEE, @ RACHRIEEELRT, WS B R B AT BE S A SR,
IR R B R HTIE, . S AT R
FRFNIRE M T RSB TR @4 EN, FETHESTEMERD, HEREEHL IS Y TR E
@Cannot be used individually under pressure. =8 @Tighten with the appropriate torqueQ

4 \.
% )‘ @Dust and scratches on the
D

sealing surface can cause
leaks.

@ Use the specified dust cap.

ONER, RERMKERER - 1HE, EAHXRER, @4 T TRMYLET EMIRE R ih &
LBERRERER, FFESS
B,

@Avoid excessive shock and vibration.

QM ENTH, W5l EREHEBRIFRRKN,
FUEZE IR BT

@Excessive stretching, rotation and bending are prohibited.

@Cannot be used individually under pressure.

@4 T RARRIE L HREMNR AL, HERDR @ EFRRER AN, HEANEHEAIERHINN O ERIERREEMIRE T REERFEER.
. FSERBRLTER, D TREERTAAR Tk (HEMESEARER, | @Cannot be used continuously at extreme temperatures
RIPOFLIR, {iﬁﬁiﬁ{{oﬁ?%&ﬁﬁﬁ(@ﬁ%mﬁ) * @ When cleaning the quick joints, use a method that does not

HRAE AR Lk,

affect the sealing surface.

@Apply the fluid or pure water used.

10

ThRE SR LM ERRR

gi\ﬁ%gﬂ@ﬂﬁﬁ%%75&9[\5(%)?#*;&{57{?@%#&%&?‘%9@’&%, MEMBAFMEERERFEARRSHIERE, RTHATY
» TRVRE

Management boundaries

Performance line charts and appearance dimension values posted on the catalog do not include tolerances for mass production.
Is as a guide for product selection and use of technical services,Represents an average.



Peiline®

@ [RiE L BRI 4 {&/Maintenance method of quick coupling

WiEEHE “O” HIF LRHEEH,
WEHE EMRHEREREN MR, BERIEER LR,
WEFROMINN, BEAASHBBRM BRI %,
[l O- ring Apply lubricant regularly.

[l Dust caps are recommended.

[l Prevent rubber corrosion when cleaning.

“O” WINHYE T iE/The method of replacement

MREFA “O” MIAREBRMRMR, ZUEARN SRR R,

BRI “0” IR,

If the "O" ring in the sleeve breaks, ages, etc.. will cause leakage during the join, replace the new "o" ring.

BT “O” MIRMTE

The method ofremoving the "O" ring

HEAGER “0” BHHAE, B “0” Kk
FEERARUEACKTREHMN TR, (MECH
g EUW “0” BIK, RERMRHNIEE
HHKERH SR AT A A SE R, )

First, wipe the groove of the "O" ring with a cloth. When removing the "O"
ring, please use a tool similar to the curved front end of the ear spoon.

(For example, when taking a broken or aged "O" ring, it can be simply
done by using a small needle like tool to pick it out.)

“0” WIRE®TIE

Replacementtoolfor O-rings

@ ;£ =/Precautions

I. BFERSES REmR~T EER, mRHIEA, ARSKE: 1. RERBATS; 2. BRSE
45 3. FRMIE - MAM; 4. BEAEFNAR. BRBEUAEREMARAHESRAMNEN~REITASE

Fo TOZRHAEIEW IR IR Peiline”

W “O” ERHERERT X

The installation method for the "o" ring

ZE “O" EXRAFREARNNAIES
“O” BB —EAREHNEGN, HRHBHAE
EERRAHERTUL, SENAELHATREESX
#IR, EERERUERBANOER, EHRFOMIA
&, REMIATINRERE ZHIEIERIRLEEH -
To install the "O" ring, you only need to press one part of the "O" ring into
the groove using a small ear spoon shaped tool, and the rest simply
need to be pressed in.
Due to the configuration of a support ring, an O-ring is inserted into the
high pressure corporate connector at the position indicated in the picture.

After replacing the O-ring,
apply some lubricating oil if it feels tight during installation and removal

i ig—aa

“0” IR _ A 0" BHEKRIAR

O-rings  The O-ring replacement fool is pressea

O
TSR (A FihEFRERES F) “0” IR
Add a support ring O-rings

II. XAF@AEZY), EETEI, ATSEmEuHt A A Ek, EHMER,
I .Due to slight differences in product sizes among domestic manufacturers.If mixing occurs, it may occur:1. Incomplete

installation and removal;2. Reduced air tightness; 3. Reduced pressure resistance and durability; 4. Reduced flow, etc.
Therefore, it is recommended not to combine products from other companies that do not meet our standards. Identify Peilin

brand and trademark when purchasing ®ejline®

II.At the beginning of our product development, it has been strictly tested and can be interchanged with high—quality

imported products. Please rest assured of using it.

38



Peiline”

1. Famm&RSTHMRLEEFEARE,
Final dimension and apperance subject to actual product.

2. FAF@MBEAREIZ BB ANER A EMBMR, BIFEFZ,
We appreciate your understanding to us in case of some technology
and product process improvements not inform you in time.

IR REEERAEEBIRAR

ZHEJIANG SHENSHEN INTELLINGEN TFLUID TECHNOLOGY CO.,LTD
HEERECIEERIRAH

ZHUJIEXCELLENT MOULD CO.,LTD

Mtk BRI EE BRI RIROS R ith & aE I 58 7= Wl (12 81E A2

Add: Building A, No.28, UD Intelligent Vision Industrial Park.
No.9. Xinong Road.Zhuji City. Zhejiang. China

Tel: 0575-87958839 Fax: 0575-87958837

Mail: hzpeilin@126.com hzaksl@126.com

Web: www.peiline.com




	目录页



